™
M)

,,\m.
o

{Jt;“--\..

YEARS OF
CELEBRATING
THE MAHATMA

15% |

¥ 91-22-2550 5151 ' YR ERHT o,
FaxNog 91-22-2551 9613 GOVERNMENT OF INDIA T oo acy
Telephane: 91-22-2559 4534 -~ AT AN I B ' Trombay
E-mail: lalitk@barc.govin BHABHA ATOMIC RESEARCH CENTRE Mumbai 400 085
' INTEGRATED FUEL FABRICATION FACILITY
Ref: BARC/IF3/06/2018/ | O Lj Y49 - -Gtk Oct 2018
. . L0

Sub: Fabrication and supply of miscellaneous components '(Qty- one set) as per attached
drawing & specification..

Dear Sir/f Madam,

For & on behalf.of The President of India your sealed offer on printed letter head of your
company is invited for “Fabrication and supply of miscellaneous components (Qty- one set) as
per attached drawing & specification”. Technical specifications and general terms & conditions are
enclosed with the enquiry in Annexure | and drawing of components in Annexure I,

Quotations should indicate GST registration number & PAN number of the firm without which
the quotations are liable to be rejected.Your offer in sealed envelope should be addressed to:

Head, Integrated Fuel Fabrication Facility
Attn.: Shri Lalit Kumar
Scientific Officer {F)
Integrated Fuel Fabrication Facility
BARC, Mumbai. - 400 085,

Duly marked with above reference no. & due date 02-11-2018 on the envelope and reach us
by 02-11-2018.

You are reques_téd.' to send your quotation by Registered / Speed post only. Courier or Hand
delivery of quotation is not:acceptable. :

Encl: 1. Technical Specifications as Annexure |.

2. Drawing of components as Annexure Il. v\/\>" /@\%{

<~ °
(Lafit Auman)
SO/F, IF3
For & on-bghalf. afPresm!ent of India

_c{“w'-ti.fi‘rﬁ“p </ouentaf|n Off.ce; (
. T S TRy vﬁln C
egrated gy F.— "mc- tior Tagi
N (S
WRE Wﬁ'/uove nment of g,
: Bhabl"a A i
- W’ V tomtc Rasaarch Centrc
=ie mbay, Cuniba; Lo es



Annexure |

Technical specifications for miscellaneous components

Scope of work: Fabrication and supply of miscellaneous components as per attached Drawing and

specification.

1) T clamp welding fixture (Qty- 2 sets)
2)  Tuk Internal Components (big tube )
3)  Tuk Internal Components (small tube )
4)  Roller support for FA inspection (8 set)

T clamp welding Fixture (Qty- 2 sets): - The supplier shall provide T clamp welding
fixture as per drawing attached.

All dimensions mentioned in the drawing are in mm.

Material of construction of top plate and bottom plate should be Perspex given in
drawing. Other material of construction should be used as per detail given in drawing.
Size of top plate is 100mm X 75mm X10 mm thick.

Size of bottom plate is 100mm X 75mm X 11 mm thick.

Center distance of all locating pin match properly during assembly of both plate.
Tightness fit (transition fit) maintain between top plate and bottom plate. Maintain mating
of both plates in such way that both plates separate out by hand during T clamp fixing
and removing.

Size of pin is Dia. 2 mm and material is SS.

Size of Bush is Outside Dia. 4 mm X Inside dia. 2 mm and material is Perspex.

Pin and Bush Fitted in Bottom plate.

All sharp corners shall be removed. During machining of top plate and bottom plate all
corner properly machined.

All drilled holes shall be deburred properly.

Size of the mating part should be proper as per drawing and should be checked by
Assembling Components.

There may be small change in dimensions from attached drawing; it will be clarified while
placing the order. Vendor should make fabrication drawing based on attached drawing
and should get clarify all doubts from BARC engineer before start of actual work.
Fabrication or shop floor drawing shall be made before fabrication and approval
shall be taken from BARC.

Tuk Internal Components (for big tube ): - The supplier shall provide Tuk internal
components (Big tube) as per attached drawing and detail given below:-

a) Circular plate — 14 nos.

Size of circular plate Outside Dia. 190mm X Inside dia. 93 mm X 10 mm thick.

Dia. 8.5 mm dia. Hole (3 nos.) drilled equidistance on 160 mm P.C.D as per shown in
drg.

All dimensions mentioned in the drawing are in mm.

General tolerance £0.1

Material - SS 304

All sharp corners shall be removed and drilled holed shall be deburred properly.

1 of6



Annexure |

The components shall be degreased. If the component is machined with carbon steel
tools, then it shall be passivated.

Fabrication or shop floor drawing shall be made before fabrication and approval
shall be taken from BARC.

b) Triangular plate — 14 nos.

Triangular plate each side length 185 mm and thickness is 10 mm. dia. 93 mm hole
bored at centre of plate. Outside Dia. 190mm X Inside dia. 93 mm X 10 mm thick.

Sharp corners of plate are removed and arc of 13.5 mm radius is provided at the 3
corner of plate.

Dia. 8.5 mm dia. Hole (3 nos.) drilled equidistance on 160 mm P.C.D as per shown in
drg.

All dimensions mentioned in the drawing are in mm.

General tolerance 10.1

Material - SS 304

All sharp corners shall be removed and drilled holed shall be deburred properly.

The components shall be degreased. If the component is machined with carbon steel
tools, then it shall be passivated.

Fabrication or shop floor drawing shall be made before fabrication and approval
shall be taken from BARC.

C) Rubber Bush — 40 nos.

Size of rubber bush is Outside Dia. 32mm X Inside dia. 8mm X length 40mm.

Rubber bush is used in between circular plate and triangular plate on ss bolt. It is tighten
in between two plate by applying around 100NM torque. It is keep inside tuk for long
period. Maintain physical properties of Rubber bush in such way that it should not be
cracked, torn or buckle after tightening. Outer dia. Of rubber should be enlarged after
tightening around 1 to 3 mm.

All dimensions mentioned in the drawing are in mm.

General tolerance £0.1

Material — rubber.

Quality of rubber will be finalized after testing of sample.

d) Circular Wooden Block (I) — 14 nos.

Size of circular wooden block dia. 86mm x 38mm length. There is rubber sheet dia. 86
mm X 11 mm thick sticked on both facing side of block. Total length of wooden block
considering rubber sheet is 60 mm.

All dimensions mentioned in the drawing are in mm.

General tolerance £0.1

Material — Wood + Rubber

Fabrication or shop floor drawing shall be made before fabrication and approval
shall be taken from BARC.

2 0of6



Annexure |

e) SS bolt and Nut — 40 nos. each

e Size of SS bolt is M8 x 80mm length. Nut size is M8.There is rubber sheet dia. 86 mm X
11 mm thick sticked on both facing side of block. Total length of wooden block
considering rubber sheet is 60 mm.

o Material — SS (std)

3. Tuk Internal Components (Small tube ): - The supplier shall provide Tuk internal
components (small tube) as per attached drawing and detail given below:-
a) Rubber Bush — 120 nos.

e Size of rubber bush is Outside Dia. 36mm X Inside dia. 15.5mm X length 65mm.

o Rubber bush is used in between 4 tubes on ss bolt. It is displaced the 4 tubes equally
and hold the tube firmly inside tuk. It is keep inside tuk for long period. Maintain physical
properties of Rubber bush in such way that it should not be cracked, torn or buckle after
tightening. Outer dia. Of rubber should be enlarged after tightening around 1 to 3 mm.

e All dimensions mentioned in the drawing are in mm.

e General tolerance +0.1

b) Rubber Sheet — 25 nos.
o Rubber sheet size is 8 ft X 4 ft X 2 mm thick.
e Material — Silicone grade 60 A

¢) SS Bolt and nut — 120 nos. (each).

e Size of SS bolt is M16 X 110 mm length. All dimensions mentioned in the drawing are in
mm.

o Size of head of bolt and threaded length should be maintained as per drawing

¢ In drawing M10 x15 mm threaded length is provided. If it is necessary then there
may be small change in dimensions instead of threading (M10) bolt may be
squared to 10 mm towards 15 mm from threaded end.

e Head size of nut should be provided as per drawing. Std nuts are available in the
market. Before supplying the nuts, size of nuts will be clarified from BARC engineer.

e All sharp corners shall be removed. At the end of threading under cut is provided for
proper tightening.

o Size of the mating part should be proper as per drawing and should be checked by
Assembling Components.

¢ There may be small change in dimensions from attached drawing, it will be
clarified while placing the order. Vendor should make fabrication drawing based
on attached drawing and should get clarify all doubts from BARC engineer before
start of actual work.

d) SS washer — 240 nos.
o Size of SS washer is Outside Dia. 30mm X Inside dia. 17mm X length 2.5mm.
¢ All dimensions mentioned in the drawing are in mm.
e General tolerance 0.1
e Material - SS

e) Circular Wooden Block (II) — 65 nos.

3 0f6



Annexure |

Size of circular wooden block dia. 69mm x 38mm length. There is rubber sheet dia. 69
mm X 11 mm thick sticked on both facing side of block. Total length of wooden block
considering rubber sheet is 60 mm.

All dimensions mentioned in the drawing are in mm.

General tolerance 0.1

Material — Wood + Rubber

Fabrication or shop floor drawing shall be made before fabrication and approval
shall be taken from BARC.

f) Tightening clamp — 2 nos.

Tightening clamp size is Dia. 33 mm X150 mm length.

Hexagonal shape machined internally in clamp upto 15 mm. Size of hexagon is 29 mm
(Corner to corner distance) X 24 mm (face to face Distance).

Purpose of hexagonal groove is holding M16 nut during tightening. Maintain hex size in
such way that Nut properly go inside slot.

All dimensions mentioned in the drawing are in mm.

General tolerance 0.1

Material - SS 304

All sharp corners shall be removed and drilled holed shall be deburred properly.

The components shall be degreased. If the component is machined with carbon steel
tools, then it shall be passivated.

g) Handle — 2 nos.

4)

Handle size is Dia. 16 mm X300 mm length.

Dia. 10 mm X 200 mm length rod is welded to handle for gripping purpose.

In drawing Nut (M10) is welded to handle. If it is necessary then there may be small
change in dimensions. Instead of welding nut to handle there may be square hole
(10 mm side) machined inside the handle upto 20 mm. Resp. to this changes 10
mm square machined instead of M10 on M16 SS bolt upto 16 mm length from
threaded end.

Vendor should get clarify all doubts from BARC engineer before start of actual
work.

All dimensions mentioned in the drawing are in mm.

General tolerance 0.1

Material - SS 304

All sharp corners shall be removed and drilled holed shall be deburred properly.

The components shall be degreased. If the component is machined with carbon steel
tools, then it shall be passivated.

Roller support for FA inspection (8 set)-:

Material of construction of base plate and side plate is SS 304.0ther material of construction
should be used as per detail given in drawing.

Size of base plate 125mm X 200mm X15 mm thick.

Size of side plate 95mm X 50mm X 15 mm thick.

Roller is machined from nylon material. Size of roller is Dia. 70mm x 16 mm. roller shall be
machined to maintain concentricity with bearing bore within 5 microns.

4 of 6



Annexure |

M.S bush is inserted inside roller. Bush size is Dia. 40mm x 26 mm Length. Press fit is
maintained between Bush and Roller.

Pin shall be properly ground after heat treatment and 43-45 HRC shall be maintained. Close
tolerance on pin is maintained as per drawing. Overall Size of pin is Dia. 15 mm x 60 mm
length.

All sharp corners shall be removed during machining of side plate and base plate

Center distance between all holes maintained properly. All drilled holes shall be deburred
properly.

Size of the mating part should be proper as per drawing and should be checked by
Assembling Components.

There may be small change in dimensions from attached drawing; it will be clarified while
placing the order. Vendor should make fabrication drawing based on attached drawing and
should get clarify all doubts from BARC engineer before start of actual work.

. Technical Documents: - The supplier shall submit dimensional inspection report and material

test report for all parts involved.

Scope included in the offer: Fabrication and supply of miscellaneous components as per
attached Drawing and specification.

Party shall purchase the required material form market for fabrication of these components.
No Free Issue Material (FIM) will be given for this by BARC.

Fabrication or shop floor drawing shall be made before fabrication and approval shall
be taken from BARC.

Dimensional report should be provided at the time of dispatch.

Pre dispatch inspection at vendor works.

Delivery of miscellaneous components at BARC, Mumbai

General Terms and Conditions:

a.

Supplier shall give acceptance of order before starting the work and within one week of issue
of work order to them.

Fabrication time from date of release of work order will be five months maximum.

Any delay in supplying the unit, which is attributable to the contractor, is liable for penalty
@1/2 % per week (max 5 %) to be imposed on the contractor.

For entering into BARC premises, supplier must have Police Verification Certificate (PVC).
Supplier shall arrange this in time to avoid any delay in execution of order.

In case of any clarification required, supplier may contact Shri Lalit Kumar, SO/F, FAF, IF3,
BARC, Mumbai 400 085, Tel. No. 022 — 2559 4534.

Income tax @2% will be deducted from the Suppliers bill.

Packing, Forwarding, Freight & Transport Charges shall be restricted to 3% or else original
proof payment of the entire charges shall be furnished.

In case any extension in delivery period required, Party shall submit request for extension
before expiry of work order.

Taxes, if any, shall be specified separately.

Payment will be arranged after satisfactory completion of work at BARC and on production
of, a) Bills in triplicate, b) Advanced stamped receipt, ¢c) Warranty/ Guarantee Certificate d)

50f6



Annexure |

Inspection reports. Advance, Part Payment or against deii\iéry cannot be made.
Proposed payment terms from the firms cannot be accepted. o
GST @ 5% shall be paid Since theses goods are to be supplied against the work order

meant for research purpose of a research organization under'iD‘AE, the necessary GST

will be exempted to the party.

Supplier will have to submit undertaking stating that GST has been promptly deposited with

the authority (copy of blank under taking attached) _
p shall be provided for period of one year from

Guarantee for material quality & workmanshi
date of supply of material to BARC.

You will have to submit an undertaking saying that GST has bee'n*b'romptfy deposited with

authorities. (copy of undertaking attached).

The contractor shall take all safety precautions while working in th'e'*dfepartment and shall be
responsible for any incident happened in the department related to this work.

Confidentiality clause:- _ o ,
No party shall disclose any information to any third party concerning the matters under this
contract generally. In particular, any conformation identified as “Prbprietary” in nature by the
disclosing party shall be kept strictly confidentiality by the receiving party and shall not be
disclosed to any third party without the prior written consent of the original disclosing party. This
clause shall apply to the sub-contractors, consultants, advisers or the employees engaged by a
party with equal force. .

‘Restricted information” categories under Section 18 of the Atomic Energy Act 1962 and
“Official Secrets” under Section 5 of the Official Secrets Act 1923, - :

Any contravention of the above-mentioned provisions by any contractor, sub-contractor,
consultant adviser or the employees of a contractor will invite penal consequences under

the aforesaid legistation

Prohibition against use of BARC's name without permission for publicity purposes. -

The contractor of sub-contractor, consultant, adviser or the employees engaged by the
contractor shall not use BARC's name for any publicity purpose through any public
media like Press, T.V. or Internet without the prior written approya_l of BARC.

6of6

N lofler

- (Nandesh Golatkar)

SA/D, IF3

/ >
{Lalit Kumar)

SO/F, IF3

e TERAT LT WUnasl
i AtETer Scientific Officer ( ? :

e S wiEee wiar

" tegrated Fuel Feoricotior Tacility

e R/ Gove nment of India

bha Atemlc Ressarch Centre

TriE fombay, Cinrabai - 30 097



200

]

|
A A, .
©" @ ol L)
! ; |
|
A
Q| —‘ { 71»2:':;16 ) N R e i i p— |
- . I &==xh \ NI Y 7 o | J
e =, N | .
12 | 14 | { /
BlLIer ©lie
T i

L/ LA N
Lzalv
27281
5

90

110

200

Section A-A

Refer drawing: BARC/IF3/06/2018/2 for details of parts

mentioned in the Bill of Material

Bill of Material

} S| Description Mat| Qty (Nos)
1 |Base Plate SS 304 1
2  |Support Plate SS 304 4
3 |Ball Bearing (6002-27) | 4
4 |Roller As shown 2
5 |Pin En-24 2
Spacer
S$5304 4
0D 201D 15.2Thk 2.0
|
7 |Allen Bolt M6 x 30 8
TITLE
ROLLER BRACKET ASEMBLY
DRGNO.
BARC/
IF3/06/2018/01

Sheettof2




35 37.5 37.5 35

125

s BN Jis s
- O ©- -©
r r I r o Notes:
b\
w All dimensions are in mm.
/’l\ //J I {J\L r’l‘x ﬁ 15 ’-15--
ﬁé?f ﬁ@?}— | ’T@r/ ﬁ@% 1 | | Base Plate and Support Plate shall be
| 5 7 chrome plated after machining.
P T A
i ! 88| oq 60 - Cast Nylon Rollers shall be machined to
‘ 2s 52 ) a2 maintain concentricity with Bearing Bore
S| g Pin 8 within 5 microns.
gl & =
—— | s BT | S S Pin shall be ground after heat treatment
| | . .
{ | 7777777 7 7l and 43 to 45 HRc shall be maintained.
°°l L jEld A i 4 / } e L |
| |
[ N -1
200
Base Plate 88
2 g
L s 5 ' \"‘ 16 §
25 25 _ +é| MS Bush —\\\\‘|
] .
o T i
pe B = 2, \ 7
N oy 58] \S\ne
K/‘.E{:WL/ _t_\__ I Ay 5| @l 1 N gle TITLE
\...\-.f_: | ; Qley | | _‘ Q [STRO PARTS FOR ROLLER BRACKET ASSEMBLY
8 i A \ \l 1
rF#“ ,Fh Nis j CastNylon — |9| |9
iy I J K | = ~an n010
i Tk | o) 26.0-0.05
b i N -
|| i 1
i N DRG NO.
15 | L _] 7575 V6 x 25 Decp Cast Nylon Roller BARG/
Support Plate IF3/06/2018/02

| | | Sheet 2 of 2




2+

vl =Y, /A RPN n
ml__|sm.ot “_| Oy = -
quth! _ oF
_ 1000 _ @ Bush Matl-Perspex, Qty—8 nos.
_
SECT A-A ==

® Bin Matl-M.S, Qty—8 nos.




|42.0-]

SECT B—B

N

oy




Rubkber Spocer / M _ #69.0

L s

Wooden Block

—l11.0 —

Port Name— S.§ Washer

Part Name—: Woocden Block Material-+ S.S 304
Material— Wood+Rubber Rty—+ 240 nos.
Qty— 1 no,

Drg. Name—: Tuk Internal Components
(Small Tube?

Sheet 1 of 5




Part Name—i Rubker Sheet 8 ftX 4 Ft X2
Materiol—t Silicone gracle 60 A
Qty— 225 nhos.

Note—-: 1) 2 nhos. stick at 65 mm from both end of the SS Tube

mm tThick

2> 1 no. rubber pad stick at the center of the SS Tube

3) Imm or 2 mm Rubber Sheet also provided with these material
Size of Rubber sheet is 8ftX4ftXlmm or 2mm thick

Drg. Name—-: Tuk Internal Components
(Small Tube)

Sheet 2 of 5




110.0-
38

] | ™ mexemo |
o el
T

Part Name— S.S Bolt
Material— S.S
Qty— 120 nos.

R

110.¢

P T
e A
OV

Part Noame—-: S.S Bolt
Material— S.S 304
Qty—:+ 120 nos,

Drg. Name—: Tuk Internal Components

(Small Tube>

_
A\S2/0 gy pun|
| ol
Poart Name—-: S, Nut
Material— S.S 304
Qty—:+ 120 nos

Sheet 3 of 5




135.0
=100
T
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 1L
................... |M:||-||-|E a
||||||||||||||||||||||||||||||| H|_|_1
_
150.0
Part Name—: Tightening Clamp
Material—: S.S 304
Qty—+ 2 nos,
Note—:
1> Size of X and Y of Tightening Clamp varied as per the size of M16 Nut X1 and Y1 size
Drqg. Name—: Tuk Internal Components

CSmall  Tuke)

Sheet 4 of




emo _
T ! _ | i
wn.ﬂo_iul!m _M. 1606 _nu_ xﬁ Hw|- 9 _ u+a.|-.§a|m®wl.|
== | & —
| o D E ool ,ﬂ
_
_
AHV Part Name-: Handle Part Zoﬂml Hanadle
_ Moaterial—: S.S
Material—: S.S Qtv—: 2 Mos
Qty-+ 2 nos, Y
Drqg. Name—: Tuk Internal Components

(Small Tubke>

Sheet 5 of 5




— ~10.0
Dia.8.5mm hole (3 nhos.> at P.C.D 160mm

93.0

$190.0 mm S.S Plate 10 mm thick

= & 4

6 Nut M8 STD. 40

S S.S. Bolt M8 X 80 mm STD. 40

Part Name—: Circular Plate 4 Rubber Bush Rubber) 40
Material—: S.S 3 Triangular Plate S.S 14
Uty= 14 nos. 2 [Circulor Plote ss | 14

1 Wooden block mﬁﬂﬁmw 14

Sp, REy.in
o, Part Name Matl | o

Drg. name—: Tuk Internal Components (Bigy
Sheet— 1/3




— —~10.0

14/.0

Dia.8.omm hole (3 nos.> at P.C.D 160mm

/// 93.0

mﬁwwiﬁw\

)

Material-: S.S
Rty—-: 14 nos.

Drg. name—

182.0
@ Part Name—: Triangular Plate

memllllL

Tuk Internal Components (Bigy

Sheet— 2/3




M

80.0 |
_

_li_lﬂ.c

b e
il Rt
6 Part Name—: M8 Nut
0328 oz P @ Part Name—: M8 Bolt
Material—: STD,
Rty—140 nos

|—=38.0—

Aﬂéwmb
Rubber m%v\\ ¢86.0

8.0
apol— \

ol //r
AHV Poart Name—' Bush Wooden Block

Materiol— Rubber

Qty—i40 nos AHV Port Name—-: Wooden Block
Material—-+ Wood+Rubker

Qty— 14 no.

CEN

Drg. name—: Tuk Internal Components (Big)
Sheet—: 3/3





